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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name : Applied Physics
Subject Code : 2TE02APH1 Branch: Diploma(All)
Semester :2 Date: 30/04/2019 Time: 02:30 To 05:30 Marks : 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) Which of the following quantities consists of S.I. unit as Coulomb?
A. Charge
B. Force
C. Frequency
D. Power
b) Which devices used to measure the temperature of an object?
A. Potentiometer
B. Odometer
C. Thermometers
D. Galvanometer
c) 1 Newton=............ daien.
A. 10°
B. 10®
C. 10’
D. 10"
d) 1A =......... metre
A. 107
B. 10
C. 107
D. 10°
e) Sound of frequency below 20 Hz is called....................
A. Audio sounds
B. Infrasonic
C. Ultrasonic
D. Supersonics
f) Which instrument is used to measure the power of electric circuit?
A. Voltmeter
B. Wattmeter
C. Wave meter
D. Viscometer
g) Mass excess for U-235 is............
A. 0.034u
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B. 0.043u
C. 0.05u
D. 0.06u
h) Newton's first law is also known ........
A. Law of inertia
B. Law of momentum
C. Law of forces
D. Law of zero
i) Which type of radiation is stopped by a sheet of paper?
A. Alpha particle
B. Beta particle
C. Gamma ray
D. X-ray
j) Times a proton is heavier than an electron is.........
A. 1827
B. 1876
C. 1836
D. 1789
k) Release of energy from sun is due to.............
A. Nuclear fission
B. Nuclear fusion
C. Burning of gases
D. Chemical reaction
I) Light yearisaunitof ......
A. Time
B. Distance
C. Light
D. Light intensity

m If Q is a charge, | is the current, t is the time the equation for current is given by I= ...
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D. t
n) is a S.I. unit of surface tension.

A. Joule
B. N/m?
C. N

D. N/m

Attempt any four questions from Q-2 to Q-8

Q-2
A
B

Attempt all questions
Write a Short note on micrometre screw gauge

Explain vernier callipers and explain positive error, negative error, zero error.

Attempt all questions



Q-4

Q-5

Q-6

Q-7
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Define Following term :

(1)Molecular range, (2)Rectifier, (3)Frequency, (4)Infrasonic Wave, (5)Current,
(6)Semiconductor, (7)Valance Electron

Explain the methods of production of ultrasonic waves.

Attempt all questions
Solve the circuit by using resistor series and parallel connection and find equivalent
resistance and current flowing through 6 ohm resistance

Ry = 60

R:= 120

B @
Give application of nano technology in engineering field (Any Seven)

Attempt all questions
State the properties and uses of a- particles.
Explain half wave rectifier with appropriate diagram.

Attempt all questions

Explain Ohm’s law with its limitations.

Draw and explain the series and parallel combination of the resistance and derive
equations for it.

Attempt all questions

Write a short note on nuclear reactor.
Write a short note on N-type semiconductor.

Attempt all questions

An object with a mass of 17.98 kg experiences a force of 12.13 N. What is the
acceleration of the object?

If an object slows from 75 m/s to 3 m/s in 4 secs what is the object's acceleration?
Explain Kirchhoff’s voltage law (KVL) and Kirchhoff’s current law (KCL) with
example.
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